oop

in =] Addisjon opptil 100 (horisontalt)
StudentName: ExamDate: _ ExamScore:
2+95= 62 +26 =

54 +22 = 54 + 66 =

31 +83 = 92 + 56 =

95+ 61 = 34+33 =

31+78 = 44 + 67 =

39+2= 43+ 52 =

99 + 57 = 65+ 81 =

4+7= 51 +21=

12479 = 96 +93 =

89 + 65 = 58 + 36 =
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ﬁﬁ% ﬂ Q%ﬂ Addisjon opptil 100 (horisontalt)
StudentName: ExamDate: ExamScore: ____
2+95=97 62 +26 = 88

54+22="176 54+ 66 = 120

31+83=114 92 +56 = 148

95+ 61 = 156 34 +33 =67

31+78 =109 44 +67 =111

390+ 2 =4] 43+ 52 =95

99 + 57 = 156 65 + 81 = 146

74 +7 =28l 51+21 =72

12+79 =91 96 + 93 = 189

89+ 65 =154 58 +36 =94
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